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BC Calculus — I.’Hospital’s Rule NAME:
Given that
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Which of the following limits are indeterminate forms? For those that are not an indeterminate form, evaluate
the limit where possible.
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Find the limit. Use I’'Hospital’s rule if needed.
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AP Calculus BC - Improper Integrals

Keep in mind that any integration technique is fair game. Keep u-Substitution, Integration by Parts,
Integration with Partial Fractions, and Inverse Trig functions in mind.

= 4 For #7-10: Determine whether or not the following
1. J';S-dx = integrals converge or diverge. Evaluate the integral
3 if it converges.
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